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・正準系, 擬正準系の逆問題

・逆問題の解法の具体例　

・多項式
・ゼータ関数
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Some Classical ODEs are reduced to CS 。
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More specifica lly ,
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The must Simple case I = [ 0 . a)
,
o < a < o 、
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・ If UH . Z ) =
t
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Solve

H → CS (H ) mi EE HB ( direct problem )

Q : Does any E cone from H ? ( iwere problem )
CS (H )

A : Yes ! L.de Brainges ( 19 60 ± E)

↓

・ But in General His difficult to determ.ie H expliCity from E .

• de Brainges
'

in verse theorem is Limited to HB .

○ What
'

s Great About sduring the iwere problem ?
(for number theorists )



For f (x ) E ([× ] ,
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To State the 1st result , We set for
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Schar - Cohen test 19 1ク( Schar , q , g ,

Cohen 1 9 22)

Support that Dn (f) キ 0 for d 1 ≤ n ≤ d
,

and

qi = # of sign changes in ( DoHI , D ,HI , - i Dd (f) ) .

⇒ f has n。 roots on TI

has exactlyd.gr。as Inside Touring MultipleCity .

In particular ,

Hallwas of f are Inside T に〉 Dn (f) > 0 for cell 1 ≤ n ≤ d.



✗ : mod f > l printNe Dirichet char .
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InHead of }x ,
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.

W . V
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Thm 2 ( JFA 2020.2021 j TMJ 2022 十 i arXIV : 2012.11121 )
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Thm 3 ( JFA 2020.2021 j TMJ 2022 十 i arXIV : 2012.11121 )
Num
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料
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② 1 4 7。 ( kx 比 3 )
も the set of Point Spectrum (eigenvalues)
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